9

94980 fnswouobl | /Answoas sueld = 19
Aiswoes) ajeuipi000/eIqaBlY BlelpaLLBIUl = DY
vigeb|y Alejuswe|3/eigebly-21d = V3 .

(09)
(1D + 9OV + y3) 1581 Ui\l 10} 1081100 JeqUINN 8101
(81)
ealy 2109sdns (19) Bl 099 sueld
(81)
s —— BOlY 91005gNS (DY) 099 pI00Y/ Bl "18u|
(¥2)
ealy 2109sqns (v3) Bl "ws|3/By-01d
110} (91098 MeY) 1994109 JaqWINN J
r 09 = 5 0€
3 69 =) O ‘62
BT M 89 i mE H '8¢
5 v .S g v /¢
I H 98 —— i r 9c
a4 'ss R a 'se
=% = b I 2 i 4 v
B v €S - v €2
r 'es E S M @éc
3 ‘IS T a4 ‘le
r oS M 02
= n I a 6y - O 61
r sy L H '8l
= 0 Ly =l u n v L
= e M 9 Taop 5 91
0 Sy = ol o ¢t
e T 7 ¥ D vl
Bl a ‘ev = a €l
4 v = (R i}
== vV ¥ 3 L
T W H Ov N r ot |
O 6% e d 6 .
—plll_- r 'se 95 '8 "
o 0 g 3 L
M 9€ H 9
g ‘st . g 3
e rve i 9 v
i D €¢ Sl g €
4 ¢ M ¢
RS 3 i€ v I |
19 oV v3 Aoy 15 ov v3 Aoy
Jealy Lealy
aloosqnsg aloasqns

Koy Butioog—sonewayie :2 1S9l




